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AN BEHE =22 %] =4 A 7Hmin) S2F(]/min) SATE 7

= =8 =8 4 rimin 7S min (7H/cm3) OS’_\?—
C-1 FA A1 240 10.3 0.0021 alkis
Cc-2 FABA2 240 10.4 0.0019 u|qk
Cc-3 FA 7 A3 240 10.2 0.0020 el iy
C-4 52 7 Al4 240 10.1 0.0017 ks
Cc-5 AFAFEAAA ] 120 10.4 0.0028 u) ik
C-6 AFATFAA G2 120 10.2 0.0028 alkds
Cc-7 2+ A Al 9 120 10.1 0.0030 iy
C-8 A 2] 9] A A ] 40 10.3 0.0032 el his
C-9 7] ERbE 40 10.2 HE A1) Lalhis
C-10 w7 EubE T2 40 10.1 2 ZE3HA 0| ki
C-11 ¥ 7] & B 40 10.4 HE A ) Ll s
C-12 ¥ 7] & 8 332 40 10.6 HE3HA 0| o 7t
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